© Journal "Algebra and Discrete Mathematics"

Identities related to integer partitions and complete Bell polynomials

Miloud Mihoubi and Hacène Belbachir

Communicated by V. A. Artamonov

ABSTRACT. Using the (universal) Theorem for the integer partitions and the q-binomial Theorem, we give arithmetical and combinatorial identities for the complete Bell polynomials as generating functions for the number of partitions of a given integer into k parts and the number of partitions of n into a given number of parts.

Introduction

The (exponential) partial Bell polynomials $B_{n,k}(x_1, x_2, ...)$ are defined by their generating function as follows

$$\sum_{n=k}^{\infty} B_{n,k}(x_1, x_2, \dots) \frac{t^n}{n!} = \frac{1}{k!} \left(\sum_{m=1}^{\infty} x_m \frac{t^m}{m!} \right)^k, \tag{1}$$

and the (exponential) complete Bell polynomials $A_n(x_1, x_2, ...)$ are defined by their generating function

$$1 + \sum_{n=1}^{\infty} A_n(x_1, x_2, \dots) \frac{t^n}{n!} = \exp\left(\sum_{m=1}^{\infty} x_m \frac{t^m}{m!}\right) \text{ with } A_0(x_1, x_2, \dots) = 1.$$

Comtet [13] gave an important impulsion for the development of Bell polynomials. The first author uses polynomials of binomial type, in [16,17],

2010 MSC: 11P81, 05A17.

Key words and phrases: complete Bell polynomials, integer partitions, q-binomial Theorem.

to give applications related to congruences and to determine inverse relations, see [15,18]. For the exponential bipartitional polynomials and polynomial sequences of trinomial type we refer to [6,19], and for The exponential multipartitional polynomials and polynomial sequences of multinomial type, we refer to [7,20]. Belbachir et al. give connection of Bell polynomials with ordinary multinomials in [5], see also [4]. Collins [12] gives some applications in integration, Germano and Martinelli [14] in generalized Blissard problem and some others.

In this paper, using the (universal) Theorem for the integer partitions (see [1,2]), q-binomial Theorem, we give properties and identities for the complete Bell polynomials as generating functions for the number of partitions of a given integer into k parts and for the number of partitions of n into a fixed given number of parts.

1. Complete Bell polynomials, integer partitions and *q*-binomial Theorem

1.1. Complete Bell polynomials and integer partitions. Let $A = (a_{i,j})$, i = 1, 2, ..., j = 0, 1, 2, ... be an infinite matrix with elements $a_{i,j} \in \{0,1\}$ and $Y_i = \{j : a_{i,j} = 1\}$ for i = 1, 2, ..., we denote by p(n,k;A) the number of partitions of n into k parts whose number y_i of parts that are equal to i belongs to the set Y_i .

A first use of partition's (universal) Theorem is given by the following.

Theorem 1. Let

$$\rho_n(q; A) := \sum_{i=1}^{\infty} b_n(i) q^{ni}, \quad |q| < 1,$$

with $b_n(i) := \sum_{k=1}^n (-1)^{k-1} (k-1)! B_{n,k} (1! a_{i,1}, 2! a_{i,2}, \dots, j! a_{i,j}, \dots)$. Then, for $a_{i,0} = 1$ $(i \ge 1)$, we have

$$A_n(\rho_1(q;A),\dots,\rho_n(q;A)) = n! \sum_{j=n}^{\infty} p(j,n;A) q^j, \quad |q| < 1.$$
 (2)

Proof. From [11, Thm. 10.3] (see also [2] and [13, Thm. B, p. 98]) we have

$$G(q, u; A) := \sum_{n=0}^{\infty} \sum_{k=0}^{n} p(n, k; A) u^{k} q^{n} = \prod_{i=1}^{\infty} \left(\sum_{j=0}^{\infty} a_{i,j} u^{j} q^{ij} \right).$$
 (3)

For $a_{i,0} = 1$ $(i \ge 1)$, the last identity becomes

$$G(q, u; A) = \prod_{i=1}^{\infty} \left(1 + \sum_{j=1}^{\infty} a_{i,j} u^j q^{ij} \right), \quad |q| < 1, \quad |uq| < 1/2.$$
 (4)

Then from [11, Thm. 11.7] (see also [13]), we have

$$\ln\left(1 + \sum_{k=1}^{\infty} g_k \frac{q^k}{k!}\right) = \sum_{n=1}^{\infty} c_n \frac{q^n}{n!},\tag{5}$$

with $c_n = \sum_{k=1}^{n} (-1)^{k-1} (k-1)! B_{n,k} (g_1, g_2, \ldots)$. We have

$$G(q, u; A) = \exp\left(\sum_{i=1}^{\infty} \ln\left(1 + \sum_{j=1}^{\infty} a_{i,j} u^{j} q^{ij}\right)\right)$$

$$= \exp\left(\sum_{i=1}^{\infty} \ln\left(1 + \sum_{j=1}^{\infty} (j! a_{i,j} q^{ij}) \frac{u^{j}}{j!}\right)\right) = \exp\left(\sum_{i=1}^{\infty} \sum_{k=1}^{\infty} q^{ki} b_{k}(i) \frac{u^{k}}{k!}\right)$$

$$= \exp\left(\sum_{k=1}^{\infty} \frac{u^{k}}{k!} \sum_{i=1}^{\infty} b_{k}(i) q^{ki}\right) = \exp\left(\sum_{k=1}^{\infty} \rho_{k}(q; A) \frac{u^{k}}{k!}\right)$$

$$= 1 + \sum_{k=1}^{\infty} A_{k} \left(\rho_{1}(q; A), \rho_{2}(q; A), \dots, \rho_{k}(q; A)\right) \frac{u^{k}}{k!},$$

which implies (2).

Corollary 1. We have

$$A_{n}\left(\frac{0!}{1-q}, \frac{1!}{1-q^{2}}, \dots, \frac{(n-1)!}{1-q^{n}}\right) = \frac{n!}{\prod_{i=1}^{n} (1-q^{i})}, |q| < 1,$$

$$A_{n}\left(-\frac{0!}{1-q}, -\frac{1!}{1-q^{2}}, \dots, -\frac{(n-1)!}{1-q^{n}}\right) = \frac{n!(-1)^{n} q^{n(n-1)/2}}{\prod_{i=1}^{n} (1-q^{i})}, |q| > 1.$$
(6)

Proof. Let $a_{i,j} = 1$ for every i = 1, 2, ... and j = 0, 1, ... in Theorem 1. We have $p(n; A) = \sum_{i=0}^{n} p(n, k; A)$ represents the number of all partitions of n, and so p(n, k; A) = p(n, k) the number of all partitions of n into k parts. Then, using the well known identity,

$$B_{n,k}(1!,2!,3!,\ldots) = \frac{(n-1)!}{(k-1)!} \binom{n}{k},\tag{7}$$

we get $b_n(i) = (n-1)!$ and $\rho_n(q; A) = (n-1)! \frac{q^n}{1-q^n}$.

Then, using (2) and from the well-known identity (see [11, Thm. 10.2])

$$\sum_{j=n}^{\infty} p(j,n) q^{j} = q^{n} \prod_{i=1}^{n} \left(1 - q^{i}\right)^{-1},$$
 (8)

we get

$$A_n\left(\frac{0!q}{1-q}, \frac{1!q^2}{1-q^2}, \dots, \frac{(n-1)!q^n}{1-q^n}\right) = n!q^n \prod_{i=1}^n \left(1-q^i\right)^{-1}, \quad |q| < 1,$$

and from the property of complete Bell polynomials

$$A_n(ax_1, a^2x_2, \dots, a^nx_n) = a^n A_n(x_1, x_2, \dots, x_n)$$
(9)

we obtain the first identity of (6).

Now, for |q| > 1 the first identity (6) becomes

$$A_n\left(\frac{0!}{1-q^{-1}}, \frac{1!}{1-q^{-2}}, \dots, \frac{(n-1)!}{1-q^{-n}}\right) = n! \prod_{i=1}^n \left(1-q^{-i}\right)^{-1}, |q| > 1,$$

and this gives, in virtue of (9), the second identity of (6).

Corollary 2. We have

$$A_n\left(-\frac{0!}{1-q}, -\frac{1!}{1-q^2}, \dots, -\frac{(n-1)!}{1-q^n}\right) = \frac{n!(-1)^n q^{n(n-1)/2}}{\prod_{i=1}^n (1-q^i)}, |q| < 1,$$

$$A_n\left(\frac{0!}{1-q}, \frac{1!}{1-q^2}, \dots, \frac{(n-1)!}{1-q^n}\right) = \frac{n!}{\prod_{i=1}^n (1-q^i)}, |q| > 1.$$
(10)

Proof. For i = 1, 2, ..., let $a_{i,j} = 1$ for j = 0, 1 and $a_{i,j} = 0$ for j = 2, 3, ... in Theorem 1. We have, $p(n; A) = \sum_{k=0}^{n} q(n, k)$ represents the number of partitions of n into unequal parts, and so, q(n, k) represents the number of partitions of n into k unequal parts. Then, using the identity

$$B_{n,n}(1!,0,0,\ldots) = 1$$
 and $B_{n,k}(1!,0,0,\ldots) = 0$ if $k \neq n$, (11)

we get $b_n(i) = (-1)^{n-1} (n-1)!$ and $\rho_n(q;A) = (-1)^{n-1} (n-1)! \frac{q^n}{1-q^n}$.

The first identity of (10) results from (2) and from the well-known identity (see [11, Exp. 10.2]),

$$\sum_{j=n}^{\infty} q(j,n) q^{j} = q^{n(n+1)/2} \prod_{i=1}^{n} (1 - q^{i})^{-1}.$$
 (12)

Now, for |q| > 1 the first identity of (10) becomes

$$A_n\left(-\frac{0!}{1-q^{-1}}, -\frac{1!}{1-q^{-2}}, \dots, -\frac{(n-1)!}{1-q^{-n}}\right) = \frac{n! (-1)^n q^{-n(n-1)/2}}{\prod\limits_{i=1}^n (1-q^{-i})},$$

and this gives, in virtue of (9), the second identity of (10).

Remark 1. From Corollaries 1 and 2, we deduce the following

$$A_n\left(\varepsilon \frac{0!}{1-q}, \varepsilon \frac{1!}{1-q^2}, \dots, \varepsilon \frac{(n-1)!}{1-q^n}\right) = \frac{n!q^{\left(\frac{\varepsilon-|\varepsilon|}{2}\right)n}}{\prod\limits_{i=1}^n (1-q^{\varepsilon i})}, \ |q| \neq 1, \ \varepsilon = \pm 1.$$

Corollary 3. Let $p_{r,s}(n,k)$ be the number of partitions of n into k parts in form $(s \mod r)$, $1 \le s \le r-1$. Then, for |q| < 1, we have

$$A_n\left(0!\frac{q^s}{1-q^r}, 1!\frac{q^{2s}}{1-q^{2r}}, \dots, (n-1)!\frac{q^{ns}}{1-q^{nr}}\right) = n!\sum_{j=n}^{\infty} p_{r,s}\left(j,n\right)q^j. \quad (13)$$

Proof. $a_{i,0} = 1$, for i = 1, 2, ... let $a_{ir+s,j} = 1$ and $a_{ir+s',j} = 0$, $s' \neq s$, for j = 1, 2, 3, ... in Theorem 1, we get $p(n, k; A) = p_{r,s}(n, k)$. Then, using the identity (7) and the identity $B_{n,k}(0,0,...0) = 0$, we get $b_n(ir + s) = (n-1)!$, $b_n(ir + s') = 0$, $(s' \neq s)$, and $\rho_n(q; A) = (n-1!) \frac{q^{ns}}{1-q^{nr}}$. Then (13) follows from identity (2).

1.2. Complete Bell polynomials and q-binomial Theorem. We give the link between the q-binomial Theorem and the complete Bell polynomials.

Theorem 2. We have

$$A_n\left(0!\frac{1-a}{1-q},\dots,(n-1)!\frac{1-a^n}{1-q^n}\right) = n!\frac{(a;q)_n}{(q;q)_n}, |q| < 1,$$

$$A_n\left(-0!\frac{1-a}{1-q},\dots,-(n-1)!\frac{1-a^n}{1-q^n}\right) = n!\prod_{j=1}^n \frac{a-q^{j-1}}{1-q^j}, |q| > 1,$$
(14)

where $(a;q)_n = \prod_{j=0}^{n-1} (1 - aq^j)$ for $n \ge 1$ and $(a;q)_0 = 1$.

Proof. From the q-binomial Theorem ([9, Ch. 16]),

$$\sum_{n=0}^{\infty} \frac{(a;q)_n}{(q;q)_n} x^n = \frac{(ax;q)_{\infty}}{(x;q)_{\infty}}, \ |q| < 1, \ |x| < 1,$$

where $(a;q)_{\infty} = \prod_{i=0}^{\infty} (1 - aq^i)$, we have

$$\sum_{n=0}^{\infty} \frac{(a;q)_n}{(q;q)_n} x^n = \prod_{j=0}^{\infty} \left(1 - axq^j\right) \left(1 - xq^j\right)^{-1}$$

$$= \exp\left(\sum_{j=0}^{\infty} \sum_{i=1}^{\infty} \frac{x^i}{i} \left(-a^i q^{ij} + q^{ij}\right)\right)$$

$$= \exp\left(\sum_{i=1}^{\infty} \frac{x^i}{i} \left(\frac{1 - a^i}{1 - q^i}\right)\right)$$

$$= 1 + \sum_{n=1}^{\infty} A_n \left(0! \frac{1 - a}{1 - q}, \dots, (n-1)! \frac{1 - a^n}{1 - q^n}\right) \frac{x^n}{n!}.$$

Then we obtain the first identity of (14) when |q| < 1. Now, for |q| > 1, the first identity of (14) becomes

$$A_n\left(0!\frac{1-a}{1-q^{-1}},1!\frac{1-a^2}{1-q^{-2}},\ldots,(n-1)!\frac{1-a^n}{1-q^{-n}}\right) = n!\prod_{i=1}^n \frac{1-aq^{-(j-1)}}{1-q^{-j}},$$

and using (9), this identity can be written as the second identity of (14).

1.3. Complete Bell polynomials and multivariate Lagrange polynomials. The multivariate Lagrange polynomials are introduced and investigated systematically by Chan et al. [10]. In [3], Altin et al. suggest a multivariate *q*-Lagrange polynomials as follows

$$\prod_{i=1}^{r} \frac{1}{(x_i t; q)_{\alpha_i}} = \sum_{n=0}^{\infty} g_{n,q}^{(\alpha_1, \dots, \alpha_r)}(x_1, \dots, x_r) t^n,$$
(15)

where $|t| < \min \{ |x_1|^{-1}, \dots, |x_r|^{-1} \}$, 0 < |q| < 1, $(\lambda; q)_{\mu} := \frac{(\lambda; q)_{\infty}}{(\lambda q^{\mu}; q)_{\infty}}$ with $(\lambda; q)_{\infty} := \prod_{k=0}^{\infty} (1 - \lambda q^k)$.

This yields the following explicit representation

$$g_{n,q}^{(\alpha_1,\dots,\alpha_r)}(x_1,\dots,x_r) = \sum_{k_1+\dots+k_r=n} \prod_{i=1}^k (q^{\alpha_i};q)_{k_i} \frac{x_1^{k_i}}{(q;q)_{k_i}}.$$

The next theorem gives an another expression for $g_{n,q}^{(\alpha_1,\ldots,\alpha_r)}(x_1,\ldots,x_r)$ in terms of complete Bell polynomials.

Theorem 3. Link with multivariate q-Lagrange polynomials. We have

$$n! g_{n,q}^{(\alpha_1, \dots, \alpha_r)}(x_1, \dots, x_r) = A_n \left(\frac{0!}{1 - q} \sum_{i=1}^r (1 - q^{\alpha_i}) x_i, \dots, \frac{(n-1)!}{1 - q^n} \sum_{i=1}^r (1 - q^{n\alpha_i}) x_i^n \right).$$
(16)

Proof. For $y_n(i) := (n-1)! \frac{1-q^{n\alpha_i}}{1-q^n} x_i^n$, i = 1, 2, ..., r, the identity (16) follows from (15) and from the expansion of

$$\prod_{i=1}^{r} \frac{1}{(x_i t; q)_{\alpha_i}} = \exp\left(\sum_{j=1}^{\infty} (y_j (1) + \dots + y_j (r)) \frac{t^j}{j!}\right)
= \sum_{n=0}^{\infty} A_n \left(\sum_{i=1}^{r} y_1(i), \dots, \sum_{i=1}^{r} y_n(i)\right) \frac{t^n}{n!}.$$

2. Complete Bell polynomials and integer partitions

As a second use of partition's (universal) Theorem, we obtain

Theorem 4. Let

$$\sigma_n(u; A) := n! \sum_{k|n} b_k \left(\frac{n}{k}\right) \frac{u^k}{k!}.$$

Then for $a_{i,0} = 1$ $(i \ge 1)$, we have

$$A_n(\sigma_1(u;A), \sigma_2(u;A), \dots, \sigma_n(u;A)) = n! \sum_{j=0}^n p(n,j;A) u^j.$$
 (17)

Proof. From [11, Thm. 11.17] (see also [13]), we have

$$\ln\left(1+\sum_{k=1}^{\infty}g_k\frac{t^k}{k!}\right)=\sum_{n=1}^{\infty}c_n\frac{t^n}{n!},$$

with
$$c_n := \sum_{k=1}^{n} (-1)^{k-1} (k-1)! B_{n,k} (g_1, g_2, ...)$$
.

Then, by (3) and (4) we obtain for |t| < 1 and |ut| < 1/2

$$G(t, u; A) = \prod_{i=1}^{\infty} \left(1 + \sum_{j=1}^{\infty} a_{i,j} u^j t^{ij} \right)$$

$$= \exp\left(\sum_{i=1}^{\infty} \ln \left(1 + \sum_{j=1}^{\infty} \left(j! a_{i,j} \right) \frac{\left(u t^i \right)^j}{j!} \right) \right) = \exp\left(\sum_{i=1}^{\infty} \sum_{k=1}^{\infty} b_k(i) u^k \frac{t^{ik}}{k!} \right)$$

$$= \exp\left(\sum_{n=1}^{\infty} t^n \sum_{k|n} b_k \left(\frac{n}{k} \right) \frac{u^k}{k!} \right) = \exp\left(\sum_{n=1}^{\infty} \sigma_n \left(u, A \right) \frac{t^n}{n!} \right)$$

$$= 1 + \sum_{n=1}^{\infty} A_n \left(\sigma_1(u; A), \sigma_2(u; A), \dots, \sigma_n(u; A) \right) \frac{t^n}{n!},$$

which implies (17).

Corollary 4. Let

$$\sigma_n(u) := \sum_{d|n} du^{n/d}, \quad \sigma_n := \sigma_n(1), \quad \sigma_{n,k} := \sum_{d|n, d \leq k} d.$$

Then

$$A_n(0!\sigma_1(u), 0!\sigma_2(u), \dots, (n-1)!\sigma_n(u)) = n! \sum_{k=0}^{n} p(n,k)u^k.$$
 (18)

In particular, for u = 1, we have

$$A_n(0!\sigma_1, 1!\sigma_2, \dots, (n-1)!\sigma_n) = n!p(n).$$
 (19)

We also have

$$A_n(0!\sigma_{1,k}, 1!\sigma_{2,k}, \dots, (n-1)!\sigma_{n,k}) = n!p(n+k,k).$$
(20)

Proof. For $a_{i,j} = 1$ for i = 1, 2, ... and j = 0, 1, ... in Theorem 4, we get p(n, k; A) = p(n, k), and from the well known identity (7) we get $b_n(i) = (n-1)!$ and $\sigma_n(u; A) = (n-1)! \sum_{d|n} du^{n/d}$. Then (18) follows from (17). The identity (20) results from [11, Thm. 10.2] and gives

$$\sum_{n=0}^{\infty} p(n+k,k) t^n = \prod_{i=1}^k \left(1 - t^i\right)^{-1} = \exp\left(\sum_{i=1}^{\infty} \sigma_{n,k} \frac{t^n}{n}\right). \quad \Box$$

Corollary 5. Let q(n, k) be the number of partitions of n into k unequal (different) parts and

$$\sigma_n(u) := \sum_{d|n} du^{n/d}.$$

Then

$$A_n(-0!\sigma_1(-u), -1!\sigma_2(-u), \dots, -(n-1)!\sigma_n(-u)) = n! \sum_{k=0}^{n} q(n,k)u^k.$$
(21)

Proof. For $i = 1, 2, \ldots$ set $a_{i,j} = 1$ for j = 0, 1 and $a_{i,j} = 0$ for $j = 2, 3, \ldots$ in Theorem 4, we then get p(n, k; A) = q(n, k). Using (11), we obtain

$$b_n(i) = (-1)^{n-1} (n-1)!$$
 and $\sigma_n(u; A) = -(n-1)! \sum_{d|n} d(-u)^{n/d}$.

Then (21) follows from the identity (17).

Corollary 6. For r, s nonnegative integers, with $r \ge 1$ and $0 \le s \le r-1$, let $p_{r,s}(n,k)$ be the number of partitions of n into k parts in form $(s \mod r)$ and

$$\sigma_n^{r,s}(u) := (n-1)! \sum_{d \in \{j: \ j|n, \ r|(j-s)\}} du^{n/d}.$$

Then

$$A_n(\sigma_1^{r,s}(u), \sigma_2^{r,s}(u), \dots, \sigma_n^{r,s}(u)) = n! \sum_{i=0}^n p_{r,s}(n,j) u^j.$$
 (22)

Proof. For i = 1, 2, ... set $a_{i,0} = 1$, $a_{ir+s,j} = 1$ and $a_{ir+s',j} = 0$ for $s' \neq s$ and $0 \leq s' \leq r-1$ (if $s \neq 0$ resp. $s' \neq 0$ we consider the case i = 0 too) j = 1, 2, 3, ... in Theorem 4, we get $p(n, k; A) = p_{r,s}(n, k)$. Using (7) and the fact that $B_{n,k}(0, 0, ..., 0) = 0$, we get $b_n(ir+s) = (n-1)!$, $b_n(ir+s') = 0$, $(s' \neq s)$, and $\sigma_n(u; A) = (n-1)!$ $\sum_{d \in \{j: j \mid n, r \mid (j-s)\}} du^{n/d}$. Then (22) follows from (17). □

Corollary 7. Let $R_r(n,k)$ be the number of partitions of n into k parts with no part greater than r; and

$$\sigma_n^r(u) := (n-1)! \sum_{d|n, d \leqslant r} du^{n/d}.$$

Then

$$A_n(\sigma_1^r(u), \sigma_2^r(u), \dots, \sigma_n^r(u)) = n! \sum_{j=0}^n R_r(n, j) u^j.$$
 (23)

Proof. Let $a_{i,0} = 1$ for $i = 1, 2, ..., a_{i,j} = 1$ for i = 1, 2, ..., r and $a_{i,j} = 0$ for i = r + 1, r + 2, ..., we have $p(n, k, A) = R_r(n, k)$. Then from (7) we get $b_n(i) = (n - 1)!$, $b_n(i + r) = 0$, i = 1, ..., r, and $\sigma_n(u; A) = (n - 1)!$ $\sum_{d|n, d \leqslant r} du^{n/d}$, and (23) follows from (17).

Corollary 8. Let $q_0(n, k)$ be the number of partitions of n into k even unequal parts, $q_1(n, k)$ be the number of partitions of n into k odd unequal parts and

$$\sigma_{n,0}(u) := -(n-1)! \sum_{d|n, d \text{ even}} (-1)^{n/d} du^{n/d},$$

$$\sigma_{n,1}(u) := -(n-1)! \sum_{d|n, d \text{ odd}} (-1)^{n/d} du^{n/d}.$$

Then

$$A_{n}(\sigma_{1,0}(u;A),\sigma_{2,0}(u;A),\dots,\sigma_{n,0}(u;A)) = n! \sum_{j=0}^{n} q_{0}(n,j)u^{j},$$

$$A_{n}(\sigma_{1,1}(u;A),\sigma_{2,1}(u;A),\dots,\sigma_{n,1}(u;A)) = n! \sum_{j=0}^{n} q_{1}(n,j)u^{j}.$$
(24)

Proof. For $p(n, k, A) = q_0(n, k)$ and $q_0(n) = \sum_k q_0(n, k)$, we have from (3), $a_{i,j} = 1$ if, and only if (*i* is even and j = 0 or 1) or (*i* is odd and j = 0). Using (11), we get $b_n(2i) = (-1)^{n-1}(n-1)!$, $b_n(2i-1) = 0$ and $\sigma_n(u; A) = -(n-1)! \sum_{d|n,d \text{ even }} (-1)^{n/d} du^{n/d}$. The first identity of (24) follows from (17). For $p(n, k, A) = q_1(n, k)$ and $q_1(n) = \sum_k q_1(n, k)$, we have from (3), $a_{i,j} = 1$ if, and only if (*i* is odd and j = 0 or 1) or (*i* is even and j = 0). We get $b_n(2i-1) = (-1)^{n-1}(n-1)!$, $b_n(2i) = 0$ and $\sigma_n(u; A) = -(n-1)! \sum_{d|n, d \text{ odd}} (-1)^{n/d} du^{n/d}$. The second identity of (24) follows from (17). □

Acknowledgements

The authors would like to thank the anonymous referee for careful reading of the manuscript.

References

- [1] G. E. Andrews. The Theory of Partitions, Cambridge, 1998.
- [2] G. E. Andrews, K. Eriksson, *Integer Partitions*, Cambridge, 2004.

- [3] A. Altin, E. Erkuş, F. Taşdelen, The q-Lagrange polynomials in several variables, Taiwanese J. Math., 10, No 5, September 2006, pp. 1131–1137.
- [4] H. Belbachir, Determining the mode for convolution powers for discrete uniform distribution, Probab. Engrg. Inform. Sci., 25, 2011, No. 4, pp. 469–475.
- [5] H. Belbachir, S. Bouroubi, A. Khelladi, Connection between ordinary multinomials, generalized Fibonacci numbers, partial Bell partition polynomials and convolution powers of discrete uniform distribution, Ann. Math. Inform., 35, 2008, pp. 21–30.
- [6] H. Belbachir, M. Mihoubi, The (exponential) bipartitional polynomials and polynomial sequences of trinomial type: Part II, Integers, 11, 2011, A29, 12 pp.
- [7] H. Belbachir, M. Mihoubi, The (exponential) multipartitional polynomials and polynomial sequences of multinomial type, Part II. Arab J. Math. Sci 21 (2015), no. 1, 2–14.
- [8] E. T. Bell, Exponential polynomials, Annals of Math., 35, 1934, pp. 258–277.
- [9] B. C. Berndt, Ramanujan's Notebooks, Part III, Springer-Verlag, New York, Berlin, Heibelberg, Tokyo, 1991.
- [10] W.-C. C. Chan, C.-J. Chyan, H. M. Srivastava, The Lagrange polynomials in several variables, Integral Transform. Spec. Funct., 12, 2001, pp. 139–148.
- [11] C. A. Charalambides, Enumerative Combinatorics, CHAPMAN & HALL/CRC, A CRC Press Company, Boca Raton, London, New York, Washington, D.C., 2001.
- [12] C. B. Collins, The role of Bell polynomials in integration, J. Comput. Appl. Math., 131, 2001, pp. 195–222.
- [13] L. Comtet, Advanced Combinatorics, D. Reidel Publishing Company, Dordrecht-Holland / Boston-U.S.A, 1974.
- [14] B. Germano, M. R. Martinelli, Bell polynomials and generalized Blissard problem, Math. Comput. Modelling, 53, 2011, pp. 964–969.
- [15] M. Mihoubi, Partial Bell polynomials and inverse relations, J. Integer Seq., 13, 2010, Article 10.4.5.
- [16] M. Mihoubi, Bell polynomials and binomial type sequences, Discrete Math., 308, 2008, 2450–2459.
- [17] M. Mihoubi, The role of binomial type sequences in determination identities for Bell polynomials, Ars Combinatoria, 111, 2013, pp. 323–337.
- [18] M. Mihoubi, Some congruences for the partial Bell polynomials, J. Integer Seq., 12, 2009, Article 09.4.1.
- [19] M. Mihoubi, H. Belbachir, *The (exponential) bipartitional polynomials and polynomial sequences of trinomial type: Part I*, Integers, **11**, 2011, A18, 17 pp.
- [20] M. Mihoubi, H. Belbachir, The (exponential) multipartitional polynomials and polynomial sequences of multinomial type, Part I, Arab J. Math. Sci. 20 (2014), no. 2, 233–245.

CONTACT INFORMATION

M. Mihoubi, H. Belbachir Faculty of Mathematics, RECITS's laboratory, USTHB, PB 32 El Alia 16111 Algiers, Algeria E-Mail(s): mmihoubi@usthb.dz,

hbelbachir@usthb.dz

Received by the editors: 28.10.2015.